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O3JISGAHEAM Ol AH 3,000
OQHBANZRZAHEANLN S S2AXES LA 1,250
O=212121 %=¢l 800
OZI1D10] A2E 2¢ 400
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05 A ¥ BE L 107,800 107,800 0
OolN2IBEHY| 100,800
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201 gEt2Ay| 116,386 119,986 A 3,600
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OA& &AL &==2 M 100,000& * 123/ 1,200
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03 AIMZ=XH R =AH| 10,000 10,000 0
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o3l EHOXN 29 117,276 17,276 100,000
201 Let2d] 17,276 17,276 0
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OJEEBEEE ALK 215 1,000& * 2,0000H 2,000
oJlEesEg MEEX 7Y 200,000& * 2CH 400
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OSEAAX Ll 5,000& * 1,000 * 43| 20,000
02 3524t 23,294 21,978 1,316
OAFAMT & BRI
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O& XS AIAE S22 ] 21,978
o MK AZTERN 582,360 = 128 6,989
o MXtal el StEAN 1,249,060 * 122 14,989
=2 WEBAIY F& 9,000 199,400 A 190,400
AN AY 9,000 199,400 190,400
205 213/ Hl 9,000 118,200 A 109,200
10 A&EEAMEE 2 9,000 9,000 0
OXZAIZXX 12T &G 22 9,000
B2 (3 ARR)(OIEHIIE) 407,622 389,030 18,592
ol 2AHY| 281,970 254,546 27,424
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101 @124 281,970 054,546 27,424
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